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& & b [.937) le IV
1.5 (265w 1.7275)

Slab ( 'bedroum)

z 7003 kN

Total dead load - 36,2873 Lp

Tz liye load = o042 EN
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DATE: No:

Co‘urnﬂ 6

DEAY L oAD

I 10 ((3.43%2.55)
: % .127S kN
/
o ///
'hél:._ﬁf - LIVE | oAD
SRR 0.5 (2,45 «3.55)
TSNS (¢ X -
L\ c U388 ki
R
\ 7
NAN AN A
e ]
ULTIMATE LOAD ot (olUMN R
(44.5956 + 52,70 + oy, 100 + 37475 ) (1.4)
+ (36981 + 55003 +130a63+ w295 ) (1.6)
— = 23%%.7085 + 18.94%2

[

17,6517 kN

@ Co'.uw\v\ 2 § CU\UMF‘ (. @(O\Umv‘. \\)

Column C LAY LoAD

Columa D LTAD L0AD

6 I 2 6TE K LTINS )

[.o (I‘ 1§75 » 1,0275) + (3.65 * L7875

= 1.9972 kN

= 6.928% kN

LIVE L oAf)

LIVE LOAD

ot (2.67¢ x";,*?‘v'i5>

0.5 (1.290% + 4,736

= 4930 LN

= 3 042 kM

ULTIMATE LOAD OF (oLuMa C

OITIMATE LAY OF (otuMn D

(62,5551 70963 + 51,0741 +9.907 ) (1-4)

(58.5306+ 191398 + 36,2873+ 6.0253 ) (1 .4)

+ (1309194 15,2395 + 1, 9467+ 4 9955 ) (1-6)

+ (ufe.%o*;-; 10.0%6% + 4 .ourLY +5,Dltrl_)(“~(”)

= L%, 426% + 242.56%

= Q46,2204 «+ 10g,46276

= 4071.239% kt

= 355,018 kN




